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= jCcd  - gP  t 7 - 6Pl
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(first-order linear differential equations with constant coefficient

and constant term, case of nonhomogeneous)
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P(t) = CP(O)  - 81e-kt  + p
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P(t): nsi  P(o)  = F

\



P(t) = [P(O)  - ple-kr  t p



j(pt6, > 0

1 IC&i:
6

j WTI~U ~~ullssln"sn75~~Y~3UaU~~~~ (the adjustment coefficient

of price)

B HU’kiJ  d?auuaJA3?uiuuas~~un~~~aua~a  ( t h e  n e g a t i v e of the

slope of the demand curve)

6 HUlEIh  dl~al~~Uuaul~Unl~aUaulllfi  (the slope of the supply

curve)
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dF = Zytdy + y’dt

Zytdy + y’dt = 0

w?a
dy 2-+Y = 0
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F(y,t) = J Mdy t q(t) : JI = psi

.
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Mdy t P’(t) : Il’ct, =
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I

)‘(t)dt = 1 (aN - ;I  Mdy )dt

‘j(t) = /.Ndt  - 1 C;/  Mdy )dt

F(y,t) =  I,,,  t  C jNdt  -1 +dy )dt 1

F(y,t) = c
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F(y,t) =
I

Zytdy  + $'(t,

= y2t + g(t)
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i&t F(y,t) = y't t k : k = V(t)
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